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∂ā

∂θ2

)
χ

= −D2D2h(ā, θ2, χ)
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 ��� 3�#�� �=W� A �D�
*�=� �� $� �@ ��#�� $<�� B � �=W� '60) 
 *�=� �� ��� *�� ā �
 ��� '�=W� 
 ) S�!@
�
 �7� �� ^+ ���� �=W� A = 0 �
 �7� �� *�=� ��6�$-� ��MO�
 ��s	 B 3�#�� �=W�
A �� $� �@ �D� �Q � 	 � �D� 3% �
�� S�!@ ā �
 �� � %6 A 
 �= W� �
 �6
��.� � g��

%�
�� ��#�� $<�� B �6�$� ��MO�
��s	



���� �� 
 ��� �� 
���# �� � �� ���!"�� oJ

A = 0 ⇔ θ2 = χ+
π

2
. '66)

^+ '�θ2 > χ �� E�# E��<"�� *�� 7� �@*�� 
�)

A = 0 ⇔ B =
−2 sinχ+ cosχ√

2
. '67)

�D� 3�;6 %6 �=W� �
 A �� �\��"� �
 �6S�!@ ā �
 ��� ^+

tanχ >
1
2
. '68)

�� �;6 θ̃(χ) 
 
��.� �� ���� *�� 
�

B2 −AC = 0, θ2 = θ̃(χ). '69)

�D� ^+

θ̃(χ) < θ2 < χ+
π

2
, '70)

�=;� ā+ � $��`� θ2 �� �=;� ā− �6*�� 
 *�� ��;6 '�=W� 
 ) S�!@ �� ā �
 ��� E�D45
�!#$� E��� '41) 7� �"=�� ���� ��!�c θ2 ��

θ̃(χ) > χ. '71)

Y%���$� %�;.	 ����� 1# �� �
 (X,χ) �
 �6
��.� �
 E�";D 3�cM&

X < u(χ) I

u(χ) < X < 1 II

X > 1 ∧ χ < tan−1 1
2

III

X > 1 ∧ tan−1 1
2
< χ <

π

2
IV

χ >
π

2
∧ 1 < X < v(χ) V

χ >
π

2
∧ v(χ) < X VI
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3�6����
 *�� 
�

u(χ) :=
1
π

(
χ− 1

2
sin 2χ

)
, '72)

v(χ) := 1 +
4 (1 + cosχ) sinχ

π cos2 χ
. '73)

%�
�� $ � 
 
!0 �� �VI 	
 I �� 	
���	�

lim
a→∞ θ = χ. '74)

�����$� $./� MN -O ���� 
 ��� 3�F!� 
��;� �
 �6���!"�� �
 ��� $��� *��
� 3�;6 S�!@ θ �
 ��� a �
 �6
��.� �
 �-6 �
 �7� �� ���� *�� 
� �II � I �� 	
���	�

%�
��

lim
a→0+

θ = u−1(X). '75)

�W�& �
 ���!"�� 
 47� �� ��� X��-#
� �
 ���� 3_
`� 
��;� �
 �6���!"�� �
 ��� $��� *��
����$�

%�
�� ���� *�� 
� �I �� ���	�

θ < χ, '76)

�
 �6�@ 
� ���� 
 ��� �
 (�� ���!"�� �
 $K��`� 
� ���� 
 ��� ���� *�� 
� $��� ��
���� ���!"�� 7� 
��

���� *�� 
� �VI 	
 II �� 	
���	�

θ > χ, '77)


�� �
 �6�@ 
� ���� 
 ��� 
 ��7 ���!"�� �
 $K��`� 
� ���� 
 ��� ���� *�� 
� $��� ��
���� ���!"�� 7�

�	%� ā 7� a �� ��� *�� θ �
 ��� S�!@ 
 �!@� 
 ?�# ���� *�� 
� �VI 	
 III �� 	
���	�

%�
�� � ��� X 7� ��!�c � ���	 ā 3���R �
 χ 
� ��#�=�

lim
X→1+

ā = 0, '78)



���� �� 
 ��� �� 
���# �� � �� ���!"�� o[

�

lim
X→∞

ā = ∞. '79)

3*��F%6

lim
X→1+

θ2 = π. '80)

���� *�� 
� �V 	
 III �� 	
���	�

θ2 < π. '81)

���� *�� 
� �IV � III �� 	
���	�

lim
X→∞

θ2 = χ+
π

2
. '82)

%�
�� � ��� X 7� $��`� � ���	 θ2 ���� *�� 
� �III �� ���	�

θ2 > χ+
π

2
. '83)

�� �;6 X2(χ) 
 
��.� �� ���� *�� 
� �V � IV �� 	
���	�

θ2[X2(χ), χ] := θ̃(χ). '84)

���� ��!�c X2 < X �
 �7� �� � $��`� 1 < X < X2 �
 �7� �� θ2 3���R �
 χ 
�
�� �;6 X1(χ) 
 
��.� �� ���� *�� 
� �IV �� ���	�

θ2[X1(χ), χ] = χ+
π

2
. '85)

�� ��� *#�


1 < X1 < X2. '86)

���� *�� 
� �V �� ���	�

lim
X→v(χ)

θ2 = π. '87)

���5$� ��� �� '56) 7� %6 ā � ��� π 
 ���R 
 
��.� θ2 ���� *�� 
� �VI �� ���	�
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3X 
 V;� �� θ 
 
�"/
 �
 $�
�� �
 ��� ���� '33) 
 ?�# �� '24) �
 ������ 
 S�!@ θ

Y%�
�� 7��� h �
 ��E
�+ �
 �6d"2� 
 ��MO �� 3χ � 3a

(
∂θ

∂X

)
a,χ

=
π

D2h(a, θ, χ)
, '88)

(
∂θ

∂a

)
X,χ

=−D1h(a, θ, χ)
D2h(a, θ, χ)

, '89)

(
∂θ

∂χ

)
X,a

=−D3h(a, θ, χ)
D2h(a, θ, χ)

. '90)

�6�$� �H�"� '33) 
 ?�#
(
∂θ

∂X

)
a,χ

> 0. '91)

��!#$� �	1�� E�#�	 
 1:� �
 ����7 3���!"�� �
 $���F 
 1��`/� �� ^+
�!#$� �H�"� '25) 7�

D1h(a, θ, χ)= 4 a sin(θ − χ) + 4 sin θ sin
θ − χ

2
, '92)

D3h(a, θ, χ)=−2 a2 cos(θ − χ) − 2 a sin θ cos
θ − χ

2
. '93)

*�� 
 V���	 7� ���� (θ − χ) 
 ��MO 4�-6 D1h 
 ��MO �6�$� 4�2� '92) �
 ����

�!#$� �H�"� '33) � '89) ��

(
∂θ

∂a

)
X,χ

< 0, θ > χ,

(
∂θ

∂a

)
X,χ

> 0, θ < χ. '94)

�
 ����7 ���!"�� 
 4�#_
`� �� '�2�$� (�� �
 ���� ���!"�� ��) I �
 ����� 
� $��� *��
*���+ �� �
 ���� ���!"�� ��) ���� �
 �6����� 
� �� � ��� 
� 3�!#$� %� E�#�	 
 1:�

��!#$� ���7 E�#�	 
 1:� �
 ����7 ���!"�� 
 4�#_
`� �� '�6�$� ,6
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���# �� � �� ���!"�� of

%�6�$� 4�2� 3G�H����

D3h(a, θ, χ) < 0. '95)


� � ����D$� χ �� θ _
`� �
 �6 a �
 �7� �� 3���R 
 X 
� �� %���$� �@!	 
�� *�� �
 ���
$� �@ ���� �6�� ��MO�
 ��s	 �6�!:� �D� 3D3h ���� 
��C�� '95) ���� *�� 
� �H�"�

���� i�/ ��!#$� g.� '33) 
 ?�# ���� *�� 
� %�6�$� 4�2� ��!# �<c

D3h = 0. '96)

3*�� 7�

a = − sin θ
cos(θ − χ)

cos
θ − χ

2
. '97)

�!#$� �H�"� �%�
�]D$� '34) 
� �
 *��

D2h=
−2 sin θ cos θ

cos(θ − χ)
sin(θ − χ) + 1 − cos 2 θ,

=
2 sin θ sinχ
cos(θ − χ)

. '98)

�!#$� �H�"� �N�-h '96) 7�

cos(θ − χ) < 0, '99)

�!#$� �H�"� '98) �� 45 
 V���	 7� ��

D2h < 0. '100)

D3h 
���� + 
 ��� � 	 �
 � � �� � 
� * ��� �� � � �� � �$ � g . � �
 '33) 
 ?� # '96) ^ +
�H�"� '95) � 3'90) 3'33) 
 V���	 7� ���� 
��C�� E
��%6 '95) � �6�$-� ��MO�
 ��s	

�!#$�
(
∂θ

∂χ

)
X,a

> 0. '101)

��!#$� �	1�� E�#�	 
 1:� �
 ����7 3���� �� ���!"�� �
 $DE��=;F 
 1��`/� �� $���


